


BLACK - PART NUMBER ORDER INFORMATION

PART#

WITH #4-40 X 1/2" MATING SCREWS (SLOT HEAD)

SUPPLIED

A30E300004 NO LOGO COVER TOP BULK

A30E301004 NORTECH LOGO COVER TOP BULK

A30E300104 COVER BOTTOM BULK

C88E300004 NO LOGO PACKAGED

C88E301004 NORTECH LOGO PACKAGED

PART#

WITH #4-40 X 7/16" MATING SCREWS (SLOT HEAD)

SUPPLIED

A30E3000041 NO LOGO COVER TOP BULK

A30E3010041 NORTECH LOGO COVER TOP BULK

A30E300104 COVER BOTTOM BULK

C88E3000041 NO LOGO PACKAGED

C88E3010041 NORTECH LOGO PACKAGED

PART#

WITH M2.5 X 12.7MM MATING SCREWS (SLOT HEAD)

SUPPLIED

A30E300004M25S NO LOGO COVER TOP BULK

A30E301004M25S NORTECH LOGO COVER TOP BULK

A30E300104 COVER BOTTOM BULK

C88E300004M25S NO LOGO PACKAGED

C88E301004M25S NORTECH LOGO PACKAGED

PART#

WITH M2.6 X 12.7MM MATING SCREWS (SLOT HEAD)

SUPPLIED

A30E300004M26S NO LOGO COVER TOP BULK

A30E301004M26S NORTECH LOGO COVER TOP BULK

A30E300104 COVER BOTTOM BULK

C88E300004M26S NO LOGO PACKAGED

C88E301004M26S NORTECH LOGO PACKAGED

PART#

WITH M3 X 12.7MM MATING SCREWS (SLOT HEAD)

SUPPLIED

A30E300004M3S NO LOGO COVER TOP BULK

A30E301004M3S NORTECH LOGO COVER TOP BULK

A30E300104 COVER BOTTOM BULK

C88E300004M3S NO LOGO PACKAGED

C88E301004M3S NORTECH LOGO PACKAGED

PART#

WITH #4-40 X 1/2" MATING SCREWS (PHILLIPS HEAD)

SUPPLIED

A30E300004PS NO LOGO COVER TOP BULK

A30E301004PS NORTECH LOGO COVER TOP BULK

A30E300104 COVER BOTTOM BULK

C88E300004PS NO LOGO PACKAGED

C88E301004PS NORTECH LOGO PACKAGED

GRAY - THESE PARTS ARE DISCONTINUED

PART#

WITH #4-40 X 1/2" MATING SCREWS (SLOT HEAD)

SUPPLIED

A30E300005 NO LOGO COVER TOP BULK

A30E301005 NORTECH LOGO COVER TOP BULK

A30E300105 COVER BOTTOM BULK

C88E300005 NO LOGO PACKAGED

C88E301005 NORTECH LOGO PACKAGED

PART#

WITH #4-40 X 7/16" MATING SCREWS (SLOT HEAD)

SUPPLIED

A30E3000051 NO LOGO COVER TOP BULK

A30E3010051 NORTECH LOGO COVER TOP BULK

A30E300105 COVER BOTTOM BULK

C88E3000051 NO LOGO PACKAGED

C88E3010051 NORTECH LOGO PACKAGED

PART#

WITH M2.5 X 12.7MM MATING SCREWS (SLOT HEAD)

SUPPLIED

A30E300005M25S NO LOGO COVER TOP BULK

A30E301005M25S NORTECH LOGO COVER TOP BULK

A30E300105 COVER BOTTOM BULK

C88E300005M25S NO LOGO PACKAGED

C88E301005M25S NORTECH LOGO PACKAGED

PART#

WITH M2.6 X 12.7MM MATING SCREWS (SLOT HEAD)

SUPPLIED

A30E300005M26S NO LOGO COVER TOP BULK

A30E301005M26S NORTECH LOGO COVER TOP BULK

A30E300105 COVER BOTTOM BULK

C88E300005M26S NO LOGO PACKAGED

C88E301005M26S NORTECH LOGO PACKAGED

PART#

WITH M3 X 12.7MM MATING SCREWS (SLOT HEAD)

SUPPLIED

A30E300005M3S NO LOGO COVER TOP BULK

A30E301005M3S NORTECH LOGO COVER TOP BULK

A30E300105 COVER BOTTOM BULK

C88E300005M3S NO LOGO PACKAGED

C88E301005M3S NORTECH LOGO PACKAGED

PART#

WITH #4-40 X 1/2" MATING SCREWS (PHILLIPS HEAD)

SUPPLIED

A30E300005PS NO LOGO COVER TOP BULK

A30E301005PS NORTECH LOGO COVER TOP BULK

A30E300105 COVER BOTTOM BULK

C88E300005PS NO LOGO PACKAGED

C88E301005PS NORTECH LOGO PACKAGED




